No. of Printed Pages : 7 BECC-106

B. A. (HONOURS) ECONOMICS
(BAECH)

Term-End Examination
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BECC-106 : INTERMEDIATE
MACROECONOMICS-I

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from all the Sections as per

instructions.

Section—A

Note : Answer any two questions from this Section

in about 500 words each. 2%x20=40

1. What are the factors on which the nominal
wage rate (W) depends ? On the basis of the
above, derive the equilibrium in the labour

market.

P.T.O.
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2. Give a brief account of Lucas’ imperfect

information model. What are its implications ?

3. Discuss the IS curve in an open economy. What
are the factors due to which the IS curve

shifts ?

4. Give a brief account of the Dornbusch’s

overshooting model. What are its implications ?
Section—B
Note : Answer any four questions from this Section

in about 250 words each. 4x12=48

5. Discuss the factors that influence the

Aggregate Demand (AD) curve.

6. Briefly describe the adaptive expectations
hypothesis. Write down the basic equations and

1llustrate with an example.



7.

10.

11.

12.
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Reconcile the difference in the Phillips curve
between short-run and long-run, with the help

of a diagram.

Briefly state the different types of financial

markets.

Bring out the relationship between balance of

payments and capital mobility.

Distinguish between nominal and real

exchange rates.

Discuss the impact of an expansionary fiscal

policy in an economy.

Section—C

Write short notes on any two of the

following in about 100 words each : 2X6=12
(a) Purchasing power parity

(b) Depreciation of currency

(¢) Transmission mechanism

(d) Natural rate of unemployment

P.T.O.
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